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1 Introduction
Progress on agreeing the EIRP accuracy value has  been slow I the last few meeting and yet it remains outstanding. In the last meeting RAN4#76 a contribution [1] was approved outlining how the deadlock could be broken. It consisted of the following proposals:
Proposal 1; As the value of each factor in 3 errors models, which are transceiver accuracy, steering error and array error, depends on the individual AAS BS, the values that are evaluated under the same condition or not should be exhibited and identified for the sake of discussion.

Proposal 2; Based on the proposal 1, if it is difficult to exhibit the values and its evaluation conditions, at least the rationales and justifications why and how the values of each factor are reasonable should be clarified.
Proposal 3; Appropriate values of each error factor should be discussed independently.

In this paper we discuss our own contributions to the EIRP value in the context of the approved proposals above.
2 Discussion
It should be noted that we have submitted values based on the 3 techniques identified currently in the TR that is
· The 3 error model mentioned in the proposals above based on estimating the potential AAS BS performance  transceiver accuracy, steering error and array error 
· A 3 error model based on estimating the current performance of the non-AAS BS over the air
· An analysis of network performance degradation due to EIRP variation
The proposals have been summarized in [2]. However for the sake of this discussion the conditions of the 1st method (the AAS BS estimated performance using the 3 error model) will be further expanded. Originally the values were identified in [3], [4]
The following error contributions have been submitted: 

Transceiveraccuracy – is the maximum conducted output power error at the transceiver unit output. 
Our value for this is ±2dB. 

The conditions for this are:

Normal conditions

Conducted accuracy into a ma matched load

The rationale behind the value being, 
· The non-AAS output power requirement (conducted) is ±2dB, we have agreed that the AAS shall perform in an equivalent level to the non-AAS hence adopting the same conducted power accuraccy requirement is the only way to achieve that.

· The AAS BS conducted power requirement per [ABA connector] is already defined as ±2dB  in the TR

steeringerror – is the variation in main beam EIRP due to beam forming errors caused by phase error at the transceiver unit output.
 Our value for this is ±0.5dB.

The conditions and rationale are:

Assuming a linear array of the type used in the ACLR and blocking simulations in both the TR and the SI. i.e. a 10x4 element array with a 1:1 ratio between transceiver units and array elements. A 25deg random phase error was estimated as a top end phase accuracy target- this resulted in a 0.5dB EIRP error due to the beam not being formed (or steered) correctly). 
arrayerror  – is the variation due to the error in the passive elements, the RDN, the antenna array gain errors, mismatch errors and insertion losses variations. 
Our value for this is ±1dB.

The conditions and rationale are:

This value was the hardest to estimate, included in the value are, variations in distribution loss (in RDN and any cabling), variations in antenna element radiation efficiency, variations in attenuation die to enclosure etc. The value was derived by looking at the gain accuracy predictions of common BS antennas. Similar variations exist in the distribution networks, antenna elements and radomes of such antennas so this was used as a guide to estimate the values.

This does not include phase errors between elements which could introduce ‘steering error’ as these are included in the ‘steering error’ component.

The estimated value seems to be in line with similar estimates in other contributions however.
Based on the above value the total EIRP accuracy requirement should be:
So the estimated accuracy is:
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As can be seen by the analysis of the figures provided, most of the assumption are not interdependent on each other – however they are all based on the macro system used in the previous AAS simulations.
3 Summary

Based on the methods proposed in [1], more details on the conditions and the rationale behind the value presented by Huawei for EIRP accuracy using the 3 error model have been provided.  
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